JosiaH, THE OBEDIENT KING

Solve the math problems to decode the message.

Alslc|p|E|F|lc|H|1|)|k|L|M[N][O]P|@|[R|S|T|U|V|W|X]|Y]|Z

4 9 9 5 26 24 16 36 13 23
X2 =3 40 x0 =1 12 43 =3 x2 10
1% -
did was
72 19 7 48 9 3 46 54 22
28 -9 x2 +4 +4 x6 +2 -36 -1
in the of the
0 2 3 100 18 8 3¢ 8 5
S5 41 x3 -5 4 78 =2 410 x4
. He the way
10 50 1 38 32 13 34 26 23 40 44 44 20 96
-4 +5 x1 -24 -12  +13 -2 -16 -3 +10 -34 -27 -2 -76
had
5 5 13 4 36 39 5 928 100 13 57 47 7
+5  x2  +7 s4 =23 =3 x3 19 -99 +13 -3 -91 +16
J
He
4 8 3 4 39 10 28 43
x4 =9 x1 =2 30 -0 =2 +6 -30
it to the or the
20 24 2 29
+5 -b x8 -16

Unit 1: Old Testament People | February | Year Two

7 2 Kings 22:2 (NIrV)

Lesson 1: LDI 5t"—6™" Grade




